
Worked
Julia

$1.66            $1.66       $1.66       2R
$1.65            $1.65       $1.65       5R

Didn’t Work

Julia     Carla         Luis
$1.70        $1.70         $1.70  0   10
$1.60       $1.60         $1.60      R 0

$1.66 R2  /   $1.66 and 2¢ remaining to give to charity or something like that. 
I found my remainder by fidgeting around in my  head, finding the answer and
figuring out there's some remaining and I added $1.66  3 times and 2 remained.

$1.66 × 3 = $4.98
It gave me $4.98 and I knew $4.98 + 2 = $5.00 so, there was 
2 remaining.

Carla       Luis
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